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1. Before attempting the question paper, kindly check your Question Booklet(QB) and O.M.R. Answer Sheet and ensure that:

- Serial number of Question Booklet(QB) and OMR Answer Sheet is same.

- All pages and all questions are properly printed

In case of any discrepancy/defect, the candidate should immediately report the matter to the Invigilator for replacement of Question

Booklet(QB) and OMR Answer Sheet. No claim/objection in this regard will be entertained after five minutes of start of examination,

candidate will be liable for the same.

Read all instructions on the reverse of OMR Answer Sheet.

On OMR Answer Sheet, use blue ball point pen only. Please, fill your Roll No. and other information correctly in OMR Answer Sheet.

If more than one response is marked for a question, it would be treated as wrong answer.

1/3 part of the mark(s) of each question will be deducted for each wrong answer. (A wrong answer means an incorrect answer or more

than one answers for any question).

6. Each question has five options/circles. First four options/circles (A), (B), (C) and (D) are related to appropriate answer and fifth
option/circle ‘(E)’ is related to ‘Question not attempted’.

7. To indicate the correct answer, the candidate has to fill in only one option/circle (A), (B), (C) or (D) with blue ball point pen for
respective question number on the OMR Answer Sheet. If the candidate does not want to answer any question then the fifth option/
circle ‘(E)’ should be darkened.

8. 1/3 part of the marks will be deducted for the questions, if none of the option/circle are darkened.

9. If a candidate leaves more than 10 percent questions or does not darken any of the five options, he/she will be disqualified for the
exam.

10. Candidate will be given 10 minutes extra to make sure, if he/she has filled up any one option/circle for each questions.

11. If there is any sort of ambiguity / mistake either of printing or factual in nature in Hindi or English version of questions, then the
English Version will be treated as final.

12. Use of Mobile Phone / Bluetooth Device or any other electronic gadget in the examination hall is strictly prohibited. If any such
prohibited material is found with any candidate, strict action will be taken against him/her as per rules.
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Warning : If a candidate is found copying or using unfair means or if any unauthorized material is found in his/her possession, F.I.R will
be lodged against him/her in the Police Station and he/she would be liable to be prosecuted under State Public Examination (Measures for
Preventions of Unfair Means in Recruitment) Act. 2022 and Amendment Act 2023. The act has provisions of imprisonment of
10 years to life and fine up to ¥ 10 crore. Board may also debar him/her permanently from all future examinations conducted by the Board.

AC1E[-]



https://applink.adda247.com/d/XhqWf9lSap
https://www.adda247.com/

Adda

4|

7

pi

2 2 2
FFqe 24T T BiE (1) S Fshl B2 (R) % ofer def

2

2

/)

(A) f=2R ® f-&
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(C) WA, IR (D) ST AT, 3T
(E) 3¥gafaud
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The relation between the focal length (f) and radius of

et

curvature (R) of a concave mirror is:

(A) f=2R ® f-%

© f=R o -5

(E) Question not attempted

Which of the following states won the 15t

Hockey India
Senior Men National Championship 2025?

(A) Punjab (B) Haryana

(C) Uttar Pradesh (D) Rajasthan

(E) Question not attempted

Who was the chief guest for India’s 76 Republic Day
celebrations in 20257

(A) Emmanuel Macron
(C) Abdel Fattah El-Sisi
(E) Question not attempted

(B) Prabowo Subianto
(D) Joko Widodo

Name the spacecraft used for launching astronauts, inclusing
Shubhanshu Shukla, into space (in June 2025) for conducting
biological research at the International Space Station?
(Choose the most appropriate option from below)

(A) Apollo 11 (B) Vostok 1

(C) Axiom 4 (D) Spaceball 1

(E) Question not attempted

Which indigenous missile system demonstrated stellar
performance in Operation “SINDOOR”?

(A) Prithvi (B) Akash

(C) Agni (D) BrahMos

(E) Question not attempted

In which Indian state was the “Shirui Lily Festival-2025”
celebrated?

(A) Nagaland

(C) Manipur

(E) Question not attempted

(B) Assam
(D) Meghalaya

According to India Skills Report-2025, what is the position
of Rajasthan in terms of providing employment resources to

b

Which of the following wetlands of Rajasthan has been

women?

(A) First

(C) Third

(E) Question not attempted

(B) Second
(D) Fourth

declared as a Ramsar site in June 2025?

(A) Devikund, Bikaner (B) Didwana, Nagaur
(C) Menar, Udaipur (D) Bada Talab, Ajmer
(E) Question not attempted

Which lake in Rajasthan has been renamed as Varun Sagar
lake?

(A) Nakki lake

(C) Foy Sagar lake

(E) Question not attempted

(B) Samand lake
(D) Kaylana lake
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ToT) & Heiferd 22 (P 7 & el 30 oo T74)

(A) (B) e
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(E) ogafd 9
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(A) el garef (B) HfcHm FEH
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13 WG ol SFTUMT (201 1) o STTAR TSTET o fohe fored o zimefior
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VAT § Frsiferd TE 82

(A) TSEHE (B) IS
(C) reft (D) I
(E) 3¥gaiasg
17 Fefafad # 8 Teee il 999 92 w6 i wH-Hl 22
(A) TUTFIUTET (B) ®IWR
(C) SIgHg (D) T=UEq
(E) 3¥gaiasd
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In which city of Rajasthan, “Rashtriya Sahakar Masala
Mela-2025” was held?

(A) Alwar

(C) Bhilwara

(E) Question not attempted

(B) Jaipur
(D) Jaisalmer

11  Which of the following regions is associated with South-
Eastern Plains (Hadoti Plateau) of Rajasthan? (Choose the
most appropriate option from below)

(A) Baran (B) Sirohi
(C) Ajmer (D) Alwar
(E) Question not attempted

12 Which of the following components is found in high
percentage in the desert soil of Rajasthan? (Choose the most
appropriate option from below)

(A) Organic matter (B) Calcium carbonate
(C) Potassium (D) Magnesium
(E) Question not attempted

13 Which district of Rajasthan had the highest percentage of
rural population (with respect to its urban population) as per
the Census of India (2011)?
(A) Dungarpur
(C) Pali

(B) Jhalawar

(D) Jaisalmer

(E) Question not attempted

14 Which of the following is the term used for hot, dry and
dusty winds that blow during the summer in Rajasthan?
(Choose the most appropriate option from below)
(A) Mavath (B) Katabatic TEeS
(C) Loo (D) Monsoon tu
(E) Question not attempted

15 Keoladeo Ghana National Park is located in which of the
following regions?
(A) Kota (B) Sawai Madhopur
(C) Bharatpur (D) Baran
(E) Question not attempted

16 Which of the following regions is not associated with the
Todgarh Raoli Wildlife Sanctuary in Rajasthan?
(A) Rajsamand (B) Ajmer
(C) Pali (D) Jhunjhunu
(E) Question not attempted
17 Which of the following is the largest artificial lake of
Rajasthan?
(A) Lunkaransar
(C) Jaisamand
(E) Question not attempted

(B) Sambhar
(D) Pachpadra

18 Which of the following Articles of the Constitution of India
ensures equality before the law and equal protection of the
laws within the territory of India?

(A) Article 17 (B) Article 52
(C) Article 14 (D) Article 32
(E) Question not attempted

19  Who has the authority to determine, by law, the salaries and
allowances of state ministers in India?

(A) President of India

(B) Governor of the concerned state

(C) State Legislature

(D) Parliament

(E) Question not attempted
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Wﬁ( S %%k_*ﬁﬁ Tt ST o T aeffeqor The lower courts in the districts of states in India function
T 73 L] 2 [TE under the direct superintendence of the
(A) T&2 tﬂ (B) I=F AT (A) Parli'ament . (B) High Court
() wma ¥ : R D) = (©) Pre31dlent of India (D) Supreme Court
© w1 (E) Question not attempted
S 21 Among the following who was the first Chief Justice of the
21 =R H & TSE 350 AT % 9ee e =meie Rajasthan High Court?
FH 9 (A) Justice Naval Kishore
A) S Tad R (B) =memfE T (B) Justice K.L. Bapna
(C) o fie (B) = FT. —— (C) Justice Amer Singh
(€ = qqh\i HHL (D) = qqﬁ\% ShHCT <l (D) Justice Kamala Kant Verma
(E) ﬂaﬂ'ﬁﬁ aq (E) Question not attempted
22 USRI &R & 3Faiid e & fom & Ffeme = FTE | 22 Who is the Cabinet Minister of the Department of Home
(ST 2025 e ITEI)? Guards under the Rajasthan Government (as of June 2025)?
(A) T 5 (B) st fiie e E/C\; ial?u L}?IGKlkllallradi Eg)) IS(urefih Sirllgh Rawat
N vinash Gehlot irodi La
(€ = EEINRIGRIG D) FUIS T (E) Question not attempted
E) 3Tdid
E) =7 kil 23 The Speaker of a state legislative assembly submits his/her
23 TS ForeIT AT 36 STeAE SO S EIEIRNE] resignation to the
- A) Governor
(A) TSI (&) Governor
) (B) Chief Minister
B) ﬂw_’ﬁ (C) Deputy Speaker of that legislative assembly
(C) 3G faem | & Suree (D) Chief Justice of the State High Court
(D) mmw%ﬂ-@w (E) Question not attempted
(E) mﬂﬁ‘d\j B 24 Who among the following was the important ruler who was
PR U p— ,_\i <7 % B e & gﬁiz)er(ri) with re-establishment of the Guhil Dynasty in
S EE Eﬁg’—[: TTOAT <hT S feam 2 ‘ (A) Rana Hammir (B) Jaitra Singh
(A) T TR (B) SERTH (C) Ratan Singh (D) Maharana Lakha
(©) o fie (D) WERTT ST (E) Question not attempted
(E) Wg{q 25 In 1857, the soldiers in Nasirabad Cantonment rose in revolt
. ) ] ) on which of the following dates?
25 1857 H THTIETE BTt § @feht 3 ffafed § 9 fFe o (A) 28th May (B) 28th April
=i faeie Eg 28th March (D) 28th February
(A) 28 1=|'§ (B) 28 T Question not attempted
(©) 28 1] (D) 28 B 26 Who led the First Cabinet of Greater Rajasthan formed on
(E) ﬂfﬁﬁﬁg’.‘l March 30, 1949?
. (A) Gokul Lal Asawa (B) Manikya Lal Verma
26 30 AT, 1949 I TTiod Jad TSTEAH o T2H HEHSA I A (C) Bhupal Singh (D) Hiralal Shastri
Tores foram? (E) Question not attempted
(A) Tﬁ‘%mgﬂa 9Er (B) qTfoTeRT STt I|T 27 The famous personality from Rajasthan who wrote “Leeltans
(©) e fife (D) BT I (Poetry)” is: -
A) Vijaydan Detha
(E) ot s ( ) -
) (B) Bavji Chatur Singhji
27 TSR % 9 g st e fierera (i) ford off: (C) Gaurishankar Hirachand Ojha
(A) freTe 2o (B) sTarst =i Rt (D) Kanhaiyalal Sethia
©) P D) 3 > 3 (E) Question not attempted
(E) Wﬁﬁgg 28 Which of the following is a famous literary work of
. Suryamal Mishran?
28 mﬁﬁﬁ@%ﬁmﬁmmﬁ%7 (A) Vansh Bhaskar (B) Prithviraj Rao
(A) I e (B) t?,aﬁw:;]a (C) Amolak Batan (D) Batan Ri Phulwari
(©) ST STt (D) mﬁw (E) Question not attempted
(E) Wﬁ—dg{q 29 Name the author of the Rajasthani novel “Dhoran Ro
) Dhori”.
29 TSR ST “eii T 9P & @ T T T (A) Lakshmi Kumari Chundawat
(A) eI FAR USEd (B) ITGaE H (B) Yadvendra Sharma
(©) SPeTTel FUTe S (D) Tt e STet (C) Shrilal Nathmal Joshi
E) - (D) Rameshwar Dayal Srimali
AN (E) Question not attempted
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B) T2,09,280

S S D S
afe; foreft Tiar gt 796 Aieh <0 & gUL a9 | AfSid =sheffg sart
T 15,7298, ATRE:
(A) T2,08,215 ]
(C) 2,10,000 (D) T2,12,355 h.'ii
(E) orgafid 9

31 T3 %1 % 25,000 1 TRT 1 F AT HTERT S T 37
Y HTT <Ihafg, oATST 9L frareT foram afe st i & 10% anfies
FaM2ad FHfad W FAR 5,150 =Tt firer, A wshafg s

RIS IR ERUREICER]

(A) T 12,500 (B) T 13,800
(C) T 15,000 (D) T 16,000
(E) 3¥gafa 9
32 IRAB=23,B:C=2:53MAD=12,dACD?:
(A) 8:15 (B) 15:8
©) 1:1 (D) 1522
(E) 3¥gaia g

33 hferel shi 377 40 T ® ST Aefoll h1 3777 48 = &) foficd =
TG 3T ST T ST 6:7 T 2

(A) 6 ®) 8
© 9 (D) 10
(E) 3¥gafasg

34 P, Q I R 7 WHM a1 o |1 WIZERT Y& 1| A AeH a1,
P 3 319 fAast it 20% i3 feprer &t 31 Q 3 oo fFaw i
50% T3 <61 A1 Fater fopam =l <6 ia o 39e writi & sgara
1 i

(A) 8:15:12 (B) 34:55:40
(C) 23:25:14 (D) 3:3:4
(E) orgafd g

35 X 3 Y foret svm o A 6 foT 3w 8 foT § o geRa
2| Z 1 HEEAT ¥, 3 59 M I 3 o7 § U EHd Bl Z 3l 39

M ! foha fot o 60 et 22

(A) 14 (B) 20
(€ 18 (D) 24
(E) orgafid 9

36 UEY P, Q 3 R Uk Tl =kl shAST: 28 fiae, 35 frde qam 42
e o s gendt 81 3 weft uTgdl hl Uk 9T Gt T TeAdt &
frepTet ars off uTsdl P, Q 37T R & Ty @i < S| A 3HE
1 12 fore 7 s e, o foba firme & forapreft rew, ot 1 58
T R WAt T el B 2

(A) 220 (B) 210
(©) 200 (D) 190
(E) Sigmia 9

37 U =AMk 45 km/h 1 TG H AT HA FY AU TqT TH T
e YT T U1 8 U o a8 37U AT 6T shefet 3741 A1
ﬁ%mﬁwaﬁwmﬂwﬁwﬁnﬁf(kmmﬁ)w
BT =T o 98 wet T o Tide T W I S ?

(A) 50

©) 52

(E) gafdug

(B) 36
(D) 60
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On a certain sum, if the compound interest earned during the
second year at the rate of 7% per annum is ¥ 15,729, then
the sum is:

(A) T2,08,215

(C) 2,10,000

(E) Question not attempted

(B) T 2,09,280
(D) T2,12,355

Vinay invested a total of T 25,000, partly on simple interest
and the remaining on compound interest. If the rate of
interest is 10% per annum and he earned a total of ¥ 5,150
as interest at the end of 2 years, then find the sum invested
on compound interest.

(A) 12,500

(C) 15,000

(E) Question not attempted
If A:B=2:3,B:C=2:5and A:D=1:2, then C:D is:
(A) 8:15 (B) 158

(O 11 (D) 15:2

(E) Question not attempted

(B) ¥ 13,800
(D) 16,000

Kavita is 40 years old and Shailja is 48 years old. After how
many years will the ratio of their ages be 6:7?

(A) 6 B) 8

© 9 (D) 10

(E) Question not attempted

P, Q and R entered into a partnership by making equal
investments. After 3 months, P withdrew 20 % of his
investment and Q made an additional investment of 50 % of
his initial investment. Find the ratio in their shares of profit
at the end of the year.

(A) 8:15:12

(C) 23:25:14

(E) Question not attempted

(B) 34:55:40
(D) 3:3:4

X and Y can do a work in 6 days and 8 days respectively.
With the help of Z, they can complete the work in 3 days. In

how many days can Z alone do the work?
bk

(A) 14 (B) 20
Pipes P, Q and R can fill a tank in 28 minutes, 35 minutes

(©) 18 (D) 24
(E) Question not attempted
and 42 minutes respectively. All these pipes were opened at

the same time. By mistake a drainage pipe was also opened
alongwith pipes P, Q and R. If the tank got filled in 12
minutes, then in how many minutes the drainage pipe can
empty the completely filled tank?

(A) 220 (B) 210

(©) 200 (D) 190

(E) Question not attempted

A person travelling at a speed of 45 km/h reaches his
destination on time. On a particular day he could cover only

half of his journey in % time. What should be his speed
(in km/h) for the remaining journey so that he reaches his

destination on time?

(A) 50

(©) 52

(E) Question not attempted

(B) 36
(D) 60
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€ AT W aY 2024 § 5 KU1 I, K, L, M 3TN g0 3ciied
1 TS ShelTs =St shY ST <l ST 4T Rl

E
:

10000 - 9426

9000 -
8000 -
7000 -
6000 -
5000 -
4000 -
3000 4
2000 -
1000 4

u -+

8790

8460 8400
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|
%
i
|

B

AN

J

~
=
<

N

HEGTET J 3N g0 fieTreht Scarfed wars =il i §&am &
FHEET K, L 3T M g et sanfeq afeat it gen @

CERINEICEAIE I

(A) 505 : 669 (B) 506 : 669 EE
(C) 506: 671 (D) 507:671

(E) Sigia g

T[STEATT ATST H e ®Y § IqTeY Gl hT S{ta T 39 TR
EﬂﬂTeﬂﬁT%z

(A) Tt (B) T

(C) &9 (D) T

(E) Fgafaug

o1 AT § FE FHET H AT I FT FHeeATdl 82
(A) ufea (B) Sfi-si

(C) #reig (D) gfern

(E) orgafd o

JaTg T qTCafieh 21t <Rl 4T HaT STTaT 22

(A) it (B) el

(C) 2t (D) /T

(E) rgafd 9

TSR STl | S31osh &9 ¥ TIh B el Fefefiad § 9

-4 AT T G e 22

(A) FHHEEET (B) @
(©) it (D) =T
(E) Agafasg

TS o fefafad @ sadrett § 9 freshl Io qHeHE
“THRITE-IT % &9 H Hd 82

(A) ufecrrersit (B) TSt
(C) THaSH (D) TIARTIUS
(E) rgafd o

TeEyE & fefafad § 9 frg &3 7 “Feiett 9 A=icHd

Ty 9 & WearaT o @rer 7= S 22 (e § 9wl 3Ugh
[EETRRCC))

(A) STAR (B) 3T

(C) = (D) TS

(E) 3Tfaia

TSR ¥ 3% et ffafad § @ g wew fi aiesfos
ferrera =1 U v few 22

(A) IR (B) SEeHT

(C) e (D) AT

(E) 3¥gafasg
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The bar graph presents the number of wrist watches
manufactured by 5 companies J, K, L, M and N in the year

2024.
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Find the ratio of number of wrist watches manufactured by
companies J and N taken together to those manufactured by
companies K, L and M taken together.
(A) 505:669 (B) 506
(C) 506:671 (D) 507
(E) Question not attempted

1 669
1671
The life history of saints available in poetry form in
Rajasthani language is known as:

(A) Parchi (B) Raso

(C) Rupak (D) Prakas

(E) Question not attempted

What is the main character called in the story ‘Kahan’ told
in Kanhaiya Khayal?

(A) Mediya

(C) Hirachand

(E) Question not attempted

(B) Jogi-Jogan
(D) Duliya

What is the traditional headgear of Mewar called?
(A) Kanchli (B) Kullha

(C) Topi (D) Safa/ Pagdi
(E) Question not attempted

Which of the following instruments widely used in
Rajasthani music is a “Sushir Vadya”?

(A) Kamayacha (B) Dhol

(C) Pungi (D) Morchang

(E) Question not attempted

Which of the following folk deities of Rajasthan is
worshipped by Muslims as “Ramshah-Pir”?

(A) Mallinathji (B) Gopaji

(C) Ramdevji (D) Devnarayanji

(E) Question not attempted

In which of the following regions of Rajasthan is the “Kajli
Teej Festival” uniquely celebrated with grandeur? (Choose
the most appropriate option from below)

(A) Alwar (B) Udaipur

(C) Bundi (D) Jhalawar

(E) Question not attempted

In Rajasthan Usta Art is a prominent part of the cultural
heritage of which of the following cities?
(A) Udaipur (B) Jaisalmer E-E
(C) Bikaner (D) Jaipur

(E) Question not attempted
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7 7 7 7
e & @ 19 TSE™ ST SR § grATiSeh = 30T
GITReRTOT frTT o T ShisHe Wit § (S 2025 % ATER)?

(A) TR FATEA (B) a1
(C) ST e (D) Wed femman
(E) orgafid 9

frefaiaa o @ wi9-a7 e T 7 1R & 3 sifufEm
(2005) ¥ Gsiferq Aar o fore sifom el miterr &9 9
T AT 87

(A) G TS, TSTEITT

(B)
(C) TSR TST A .3T0E. oI
(D)
(E)
frefetfiaa ® @ -4 a1q FURA det | Wil St 22

(A) wifem (B) @M
(C) e (D) Hifeaw
(E) orgafd

usrew uftae 3 ffta seaem: e g anfea e
(A) STHEE AR AR IURET (B) STHRE T ST
(C) I 3 AT (D) TFA I AHET
(E) 3¥gafasg

fafore wrrer shifRTerTaTt & ot o foha SIS WS B 82

(A) 28 (B) 40
(C) 23 (D) 48
(E) ¥t = Eﬁ
ERINECINEAESIEETE

= [ (T ) = 11 ()
a. Ul I %
b. @ (Hisied) II. St (sfam)
c. Wt 1. g (fermy)

31g (forad) IV. TIESeT
ﬁ%ﬁnmﬁaﬁ*ﬁﬁﬁa%%waﬁ

(A) a-ILb-TLc-1V,d-1I
(B) a-1,b-1c-1V,d-1I
(C) a-Lb-II,c-IV,d-1I
(D) a-TLb-Tc-1,d—1V

(E) 3¥gafia g
TTETTE fohet o T AT ST T AT 1 27
(A) TER (B) drEIER
(C) g (D) féegn
(E) ATl 9

e o O forae T/ o 7o fehet <t fwior seaman
o7

(A) T FHEAT

(B) '
(C) et fég gmem

(D) WEIST §aTs 57 ffe

(E) 3rafa v

TS o FUe] & | ShedT et 3 Wbl g1 T ST a1ed Wit
Tt shT I SHET STt 22
(A) THHRT

(C) @R

(E) orgafd 9

(B) I
(D) iRl qfiErt
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Who among the following is the current Cabinet Minister
for Social Justice and Empowerment in the Rajasthan State
Government (as on June 2025)?

(A) Joraram Kumawat (B) Kanhaiya Lal

(C) Avinash Gehlot (D) Madan Dilawar

(E) Question not attempted

|

Which of the following bodies serves as the final appellate
authority for matters related to the RTI Act (2005) in
Rajasthan?

(A) Organization for Information, Rajasthan

(B) Rajasthan State Information Commission

(C) Rajasthan State RTI Board

(D) Rajasthan State Council of Information

(E) Question not attempted

Which of the following metals is stored in Kerosene Oil?
(A) Platinum (B) Gold

(C) Copper (D) Sodium

(E) Question not attempted

The enzymes pepsin and trypsin are secreted respectively
by:
(A)
(B)
©
(D)
(E)
How many pairs of chromosomes are present in diploid
human cells?

Stomach and salivary glands
Stomach and pancreas

Liver and pancreas

Liver and stomach

Question not attempted

(A) 28 (B) 40
(©) 23 (D) 48
(E) Question not attempted
Match list I with list II:
List I (Human Disease) List II (Causes)
a.  Tuberculosis I.  Fungi
b. Measles II. Bacteria
c. Malaria III. Virus
d.  Ringworm IV. Protozoa

Choose the correct answer from the options given below:
(A) a-II,b-1,c-1V,d-I

(B) a-II,b-I,c-1V,d-1I

(©) a-Lb-Ic-1V,d-1II

(D) a-ULb-Lc-1,d-1IV

(E) Question not attempted

What is the name of the main entrance gate of Nahargarh
Fort?

(A) Hawa Gate

(C) Suraj Pol

(E) Question not attempted

(B) Tadi Gate
(D) Lion Gate

Who among the following built the Gagron Fort in
Rajasthan?
(A) Rana Kumbha
(B) Bijaldev Singh

(C) Zalim Singh Jhala E

(D) Mabharaja Sawai Jai Singh

(E) Question not attempted

The devotional songs sung by the devotees of Kaila Devi in
the Karauli region of Rajasthan are called:

(A) Humseedo (B) Languriya

(C) Lalar (D) Panihari

(E) Question not attempted
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8 8 8 8
FTR T TSTE o foiat &= i feafcTiad o 9 ford st
F IS TAR? e
(A) e hﬁi (B) @Il
(C) Tfem (D) =mMe
() S s

frefefiaa o 9 -6 S, TTeTEie ST wdTs JIdTq & 6
IEX IR

(A) SETh &I (B) Famt &I
(C) T (D) T it T
(E) gafd o

ffaTfad § & -8 ATehTed FaTrsT Yard g o e
o G ST H 3 gHAT 41?2

(A) THd (B) T

(C) qumm (D) =mda

(E) Fgafasg

frfafad # & #F-d g gl S | fud 72
(A) THTET gaelt (B) TR A g
(C) et T gaeft (D) TSI T et
(E) ¥gafaug

AT | <31 o TSI & U8 o o H freaferfad & & -1

o el 22 (e o & oo IRIeh forehed <)

(A) TFE T59 % TSI 1 AT TS (e & g
ECRRERIIS IR

(B) T=IUT €8 & fohelt ot we = fopeft s & faummes
% ot T o Tewy e =i

(C) TSI O I8 shi S7afer & foT ug g )

(D) T 1 I3 +ff ik fore 30 o i o1 off 2 < 2,
TSI Teh B o foTe a2

(E) Fgafasg

Choose the most appropriate option to convert the

following sentence from Active to Passive Voice:
He was passing the ball.

(A)
(B)
©

The ball is being passed by him.
The ball was passed by him.
The ball had been passed by him.

(D) The ball was being passed by him.
(E) siaf@ws

Choose the most appropriate option to convert the
following sentence from Direct to Indirect Speech:

She said to me, “He has submitted the report.”

(A) She said that he has submitted the report.

(B) He said that he had submitted the report.

(C) She told me that he had submitted the report.

(D) She confirmed that his report was submitted.
(E) 3Tt
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The ‘Valar Dance’ is a famous dance of which of the
following tribes of the Sirohi region in Rajasthan?
(A) Bhil (B) Dholi
(C) Garasiya (D) Kamad
(E) Question not attempted
Which of the following is a folk theatre of Dausa, Lalsot and
Sawai Madhopur regions?
(A) Jaipuri Khyal
(C) Hela Khyal
(E) Question not attempted

(B) Kuchamani Khyal
(D) Turra Kalangi Khyal

Which of the following folk dramas originated in Jaipur
during the reign of Maharaja Pratap Singh?

(A) Rammat (B) Gavri

(C) Tamasha (D) Chaar Baint

(E) Question not attempted

Which one of the following famous Havelis is located in
Jaisalmer?

(A) Rampuria Haveli

(C) Patwon Ki Haveli

(E) Question not attempted

(B) Bagore Ki Haveli
(D) Bhamashah Ki Haveli

Who among the following was the Chairman of the
Constituent Assembly of India? (Choose the most
appropriate option from below)

(A) Dr. Rajendra Prasad

(B) Ganesh Vasudev Mavalankar

(C) Dr. B.R. Ambedkar

(D) Pt. Jawaharlal Nehru

(E) Question not attempted

Which of the following statements is correct about the
Governor of a State in India? (Choose the most appropriate
option from below)

(A) The Governor of a State is elected by the state
legislative members.

The Governor shall not be a member of either House
of Parliament or of a House of the Legislature of any
State.

The Governor shall hold office for a term of six years.
Any citizen of India who has completed 30 years of
age is eligible for appointment as a Governor.
Question not attempted

B

©
D)

following sentence from Active to Passive Voice:
He was passing the ball.
(A) The ball is being passed by him.
bk
(D) The ball was being passed by him.
(E) Question not attempted
Choose the most appropriate option to convert the
(A) She said that he has submitted the report.
(B) He said that he had submitted the report.
(C) She told me that he had submitted the report.

(E)

Choose the most appropriate option to convert the
(B) The ball was passed by him.

(C) The ball had been passed by him.

following sentence from Direct to Indirect Speech:

She said to me, “He has submitted the report.”

(D) She confirmed that his report was submitted.

(E) Question not attempted
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Convert the following Assertive Sentence to a Negative

Sentence:

Lokesh has more wealth than common sense.

(A) Lokesh does not have as much common sense as he
has wealth.

(B) Lokesh does not have wealth and common sense.

(C) Lokesh neither has wealth but has common sense.

(D) Lokesh is more wealthy than smart. (TS0
® s bk
Convert the following Interrogative Sentence to an
Assertive Sentence:

Who does not like to be pampered?

(A) Oh to be pampered by everybody!

(B) Everybody likes to be pampered.

(C) Do you like to be pampered?

(D) Everybody shall be pampered.
(E) siaf@ws

Convert the following Assertive Sentence to an
Exclamatory Sentence:

It is sad that we have lost the match today.

(A) Bravo! We have lost the match today.

(B) Hurrah! We have lost the match today.

(C) Alas! We have lost the match today.

(D) What a sad match today!

(E) 3rgafia g

Choose the most appropriate option to correct the
following sentence:

No sooner I saw the bear than I ran away.

(A) No sooner I had seen

(B) No sooner had I seen

(C) Assoon as I saw

(D) No correction needed

(E) 3rgafa sy

Fill in the blank with the most appropriate word:

It took Anand seven years to this task.

(B) accomplish

(A) accomplice
(C) accompany

(E) orgafdu

Fora-frETa HieTser Ueeliehe 1 = S 22 (R 3 &
e 39 forehied =)

(A) o == STat woet S Hehd 7

(B) Tohem S1oeft st it STHeRIT T Usfiehd T Tehd &
(C) Toram fefgeat i STTaTSITe W 51 T Tehd 3

(D) o sfist oii @ Tl gk 2

(E) Agafaud

freafafaa 3 @ #-ar sifen freen 7@t &2
A) fF=Es 11 (B) A 3TT™
(C) TS S (D) g

(E) rgafd g

(D) accompanies
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Convert the following Assertive Sentence to a Negative

W)

Sentence:

Lokesh has more wealth than common sense.

(A) Lokesh does not have as much common sense as he
has wealth.

(B) Lokesh does not have wealth and common sense.

(C) Lokesh neither has wealth but has common sense.

(D) Lokesh is more wealthy than smart.

(E) Question not attempted

Convert the following Interrogative Sentence to an
Assertive Sentence:

Who does not like to be pampered?

(A) Oh to be pampered by everybody!

(B) Everybody likes to be pampered.

(C) Do you like to be pampered?

(D) Everybody shall be pampered.

(E) Question not attempted

Convert the following Assertive Sentence to an
Exclamatory Sentence:

It is sad that we have lost the match today.

(A) Bravo! We have lost the match today.

(B) Hurrah! We have lost the match today.

(C) Alas! We have lost the match today.

(D) What a sad match today!

(E) Question not attempted

Choose the most appropriate option to correct the
following sentence:

No sooner I saw the bear than I ran away.

(A) No sooner I had seen

(B) No sooner had I seen

(C) Assoon as [ saw

(D) No correction needed

(E) Question not attempted

Fill in the blank with the most appropriate word:
It took Anand seven years to this task.

(A) accomplice (B) accomplish
(C) accompany

(E) Question not attempted

(D) accompanies

What is the use of ‘KISAN-GIRDAWARI® Mobile
Application? (Choose the most appropriate option from
below)

(A) Farmers can sell their crops here.

(B) Farmers can self-register their crop information.

(C) Farmers can monitor locust movement.

(D) Framers can buy seeds and fertilizers.

(E) Question not attempted

Which of the following is net an operating system?
(A) Windows 11 (B) Mac OS Tee
(C) Adobe Photoshop (D) Ubuntu EH
(E) Question not attempted
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mﬁﬁmmﬁm%mmm@?m In Microsoft Word, the keyboard shortcut used to cut the

R selected text is
(A) Ctl+H (B) Ctrl+X (A) Cul+H (B) Ctrl+X
(C) Cul+Vv (D) Cul+2Z (C) Cul+Vv (D) Cul+Z
(E) orgafd 9 (E) Question not attempted
71 THUH THIA ¥ 1€ 916 37 a1 U1% g FAqiqury | 71  In MS Excel, pie charts and bar graphs are found under the
ST 2 tab.
(A) T (B) B™ (A) Insert (B) Home
(C) U TS (D) qflﬁfﬂ'ﬂ (C) Page Layout (D) Formulas
(E) y@ﬁﬁq e (E) Question not attempted
72 97 U1, TR, e ST T vk IR R, S Uk URL 72 A is a collection of web pages, images, videos etc.,
F g GRT B B which are addressed relative to a URL.
(A) T FEH (B) wRTfiw (A) Web browser (B) Hyperlink
(C) e Tw (D) J=ETEE (C) IP Address (D) Website
(E) WW’T (E) Question not attempted
73 S i T T AREE R T 2 (ﬁ_‘:{ ¥y g 73 is mot an essential part of an E-mail address.
ﬁﬁwaﬁ) (Choose the most appropriate option from below)
N X (A) The Username (B) The “@” Symbol

(A) SFEnRal A [Mek (B) @ w1 g
(C) THeRal 1 919 (D) Y Tl ema
(E) gafid 9

(C) The Recipient’s Name (D) The Top Level Domain
(E) Question not attempted

74 Find the smallest fraction which is exactly divisible

4

52 5 4 — ;
74 6,93=ﬁt 35 4 qui: forrsar BT & B it 3 by %,%andﬁ.

1 2
ST D ey
o 20 20

© % 73 © 2 o 2

(E) rgafd o

(E) Question not attempted

75 Torelt witeqr & U elm & 60 faenfdi & SR F @A 4381 | 75 The average score of a class of 60 students in an examination
Ieitot i 3 Siahi T 3T 52 ® aur H@?ﬂ“’f foremfefn 3 is 43. The average score of the students who have passed is

37ahi T 3710 16 B FaT 311?!‘1“? Terenfera =61 gfasra <=m 22 52 and those of failed students is 16. What is the percentage
of failed students in the class?

(A) 33%% (B) 15% 1

(A) 333% (B) 15%
(C) 36% (D) 25%
© - (©) 36% (D) 25%

(E) Question not attempted

76 @Wﬁ@a@? 2,016 % aref, e 39 12%THEAN | 76 A shopkeeper sold an item for T 2,016, thereby earning a
20% meéﬁ%ﬁﬁa%a@ﬁﬂﬁmﬂﬁﬂ off 2 profit of 12%. For how much should he have sold it to earn
(A) T2,177.28 (B) T2,165 20% profit?
(€) T2,160 (D) T 2,154 (A) T2,177.28 (B) T 2,165
(E) 3T = (©) 2,160 (D) T 2,154

. . (E) Question not attempted
77 U farshdt 3 31 QU |13 Tedsh % 18,000 H S| T w15 W

77 A dealer sold two used bikes for ¥ 18,000 each. On one bike
3420 A)F{Tﬂgﬂ'[i%ﬁ'( T 10 A%Tﬁggl SHEET he earned 20% profit and on the other he lost 10%. Find his

f{‘o"ﬁgm AT STera T ST e 6 profit or loss percentage in the whole transaction.

(A) <M, 10% (B) <M, 2% (A) Profit, 10% (B) Profit, 2%
1_0 1_0

(©) @, 25 (D) <, 275 % (C) Loss, 2}7% (D) Profit, 217%

(E) 3Taiagd

(E) Question not attempted
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11 11 11 11
fe foreft Tt shi Teeh SiT T 20% SR ST, Tl 3 o &prthel
ﬁ%ﬁ’aﬂﬁ-‘ﬂﬁ%:
(A) 40% (B) 42% E'E
(C) 44% (D) 50%
(E) orgafid 9

HTENOT SIS 9T Ueh fAf3ya eufsr s IS # T 13,080 S8 a¥ o
16,023 B STl 31 sAST Fr Af¥ep a1 @

(A) 8% (B) 9%

©) 11% (D) 12%

(E) 3Fgafa g

Freaferfad § @ -9 ree SATRaT=I 1 1 ISR T € 2
(A) WRG (B) Tm

(C) were (D) femTer

(E) 3¥gaiasg

o7 foreeft FTeft @ A # o forsroT oAt ST gatm 22

(A) TorETE faRIeor (B) HETETE fagiyor
(C) =afharae foramor (D) uftaToraTee faremor
(E) rgafd 9

fmfafiaa 5 @ forg arer § Hetaar=es G 1 T g2 2
(A) 19 AT ST (B) STHITE, @ @are

(€) THFBIA (D) &SI TR

(E) Fgafasg

AT T eI AT H TR SR o R B SR e | 2

(A) e fopam (B) HI fopa

(C) wehweh Toramm (D) Sromeie fora

(E) gafd o

freafafad wei § 4 dqem Tea &

a. TR b. 3¢

c.  gdT d. 9L

e. q;_vf

et fear T forshedl § 9 Herdl STh 3T T = IS
(A) Fad a FTb (B) ¥aet d 3 e

(C) FadTa ¢ (D) 9 b3 d

(E) rgafd 9

RIECIERERCIR) LS

U 1: ST 368 TERA 3T IThd § T gt el & e 2, 3
A FHEI & |

o 11: fordeft wirrsiy & fewd v § S7re wredt i1 qgwa e
g

ITH AT Tt H, i o ¢ et § & wad 3Ugh
ESLEARCPEEA 1

(A) A 1 30 e 11 31 a2

(B) YA 1 31 A 11 31 TTeAd 8

(C) YT 14E ? AfRT e 11 TeAd 2l

(D) YA 17TeTd & SAfehd A 11 T 2

(E) 3¥gaia g

Freferfad & & 39 v1eg 2-

(A) @

(C) e

(E) 3¥gaia g

(B) fah
(D) &R
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If each side of a square is increased by 20%, then the

s

percentage increase in area of the square is:
(A) 40% (B) 42%
(C) 44% (D) 50%
(E) Question not attempted

On simple interest, a certain sum amounts to ¥ 13,080 in 5
years and to ¥ 16,023 in 8 years. The rate of interest per
annum is:

(A) 8%

©) 11%

(E) Question not attempted

foeferiad 9 9 Si9-91 31ee HfRareh €3I T ISR &Y = ?
(A) WA (B) Tm
(C) UgEre (D) feure™

(E) Question not attempted

778 foreett shell & aret | forg farRiwor <61 s gt 22

(A) TTETEF R (B) H&ATETE faareor

(C) =AfFarae fargror (D) uftwToraTees faeror

(E) Question not attempted

frefefaa 5 @ forg arer & Hetaarsss 9™ 1 FA g3 2 2
(A) T 31T AT ST (B) Il G ®, |l @iar &

(C) THFBIA (D) 98 ST M

(E) Question not attempted

“TIERAT T <11 TR 8 Tohw Tohre =6t foharm b1 ST g @ 2

(B) 9%
(D) 12%

(A) e T (B) HIh fopar

(C) W fobam (D) Jwomede fopa

(E) Question not attempted
frefefad yeai # & qeam wee & -

a. TR b b. 32

c. gET b.'ﬁ d WX

e. ol

e f&2 T fereredll 3 | W S ST = I
(A) FIT a I b (B) FaAd e

(C) Fadta 3¢ (D) Fadb I d

(E) Question not attempted

e 31 e feu g -

T I: ST 3758 TEFHA 3T IThd | forhd et i & ome & 3
qEIE FEA € |

o [1: Foraelt ATl § few wom & o1 wreai i qgwd Fed
g

I FUAT & AT |, = 1o T Forehedi § § w9 39T
I HT = IS

(A) e 1 3 A 11 ST Ol 2

(B) A 1 30 e 11 1 Teld 8l

(C) YT 1L © AT e 11 7TeTd 2l

(D) o 1 TTeTd € ATk e 11 Tl 2

(E) Question not attempted

ffafad § & 3o wreq 2-
(A) =1d B) fo®
(C) @ (D) &R

(E) Question not attempted
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12 12 12 12
TR T e TS HETa 1 37 -
(A) TS (B) =ga Tited HT
(C) WO g (D) e foremeRt 7 &
(E) 3¥gaiasg

o it Rt +ft Tuft o fema - Frfafiaa § & fore Sreife
FAd B2

(A) VT =T A ST

(B) 37ei ® T TS [0
(C) 3T % T8 T3fert & & E’i
(D) 39 % BT T AT

(E) rgafd 9

T 1 wi-fose B

(A) TF+3M (B) d+3M
(C) T+ (D) T+
(E) orgafd 9
TIIHI 63 H T 3T ¢ -

(A) ¥ (B) wfq
(€) 9 (D) Iq
(E) rgafd 9

T o fefafiad § @ ford & 3 cqtad sgeeria =g
qiEISHT 95T &9 § feerd 72

(A) =ATETe (B) T
(C) gt (D) ey
(E) orgafid 9

2024 # HTET Hie (S[3-forcieR) & SR fope 7 o Tstea
T deiafey Sfied (Terdie) a9t 1 STead Ifaerd gst o T2

(Fre1 5§ w=r Sueh forshed )

(A) foresr (B) g

(©) (D) 3T

(E) orgafd 9

TSR | g @i siter o e T s T 22
(A) Tt (B) =AW

(C) =IvaIed (D) SR

(E) 3¥gaia 9

frfafad & & -8 sty TS % Sea & 7 fua a8
2

(A) s sty (B) Smferan sifer

(C) e TR sifeT (D) wTeft |t

(E) rgafd 9

STURET 201 1 o SFTET TSI o fohd fored # STreien i1 gaa
e T T gt fohaT TRIT?

(A) 3T B) e

(C) WdR (D)

(E) orgafid 9

AT 7 FHHATS % e Ik T O feherdt
2

(A) IR (B) I HTHS

©) i (D) faranfares

(E) 3¥gaia g
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“ TR I T2 TS HETal il 37 8-
(A) IR (B) g aftem T

(C) TG 8T (D) @Y foretent 9 T

(E) Question not attempted

<h# TufT ETeRL it T7uft skt fera - Feferfigd § @ fore irehifh
FTALR?

(A) T =47 S ST

(B) eIl § BT TS

(C) ™ % 3T T[3ferdi % aW

(D) 378 % T T AT

(E) Question not attempted

T 1 wfy-faese gm-
(A) TTI+3q

© F+7

(E) Question not attempted
TR 16 H T T ¢ -

(A) W (B) wfa
© 7 (D) ¥4
(E) Question not attempted

(B) d+3H
(D) I+34

In which of the following regions of Rajasthan is the
“Parwan Multipurpose Irrigation Project” primarily located?

A) Jhal B) Bik
(A) Jhalawar (B) Bikaner E'E

(C) Barmer (D) Sirohi
(E) Question not attempted
Which month during the monsoon season (June-September)

in 2024 recorded the highest percentage of long period
average (LPA) rainfall in Rajasthan? (Choose the most
appropriate option from below)

(A) September (B) July

(C) June (D) August

(E) Question not attempted

The “Hamja Kheri Dam” in Rajasthan has been constructed
on which river?

(A) Sivani

(C) Chambal

(E) Question not attempted

(B) Banas
(D) Banganga

Which of the following Dams is not situated in Udaipur
region of Rajasthan?

(A) Badgaon Dam

(C) Fateh Sagar Dam

(E) Question not attempted

(B) Bagolia Dam
(D) Mashi Dam

As per Census 2011, which district of Rajasthan recorded
the second highest density of population?

(A) Ajmer (B) Bikaner

(C) Bharatpur (D) Bundi

(E) Question not attempted

‘Banas’ river originates from the place known as

near by Kumbhalgarh.
(A) Nag Pahar (B) Veron Ka Math
(C) Durg (D) Shivalik

(E) Question not attempted
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7

13 13 13 3

freaferfiaa § & -91 TS TS TSR SR TS 2,
ST foF THUETSTE g 31-12-2024 1 feufa § S wia &
G AT o Usd/ehg AT TeIEr forewor § ggian m 87

[N

(A) 216A o (B) 315A
(C) 702D t_ﬂ (D) 168A
(E) orgafd 9

ThIeT TSI 9T et el X oFT shadl &€ ool Ffafaa # @
Torg gt TS (fermn) 1 fewa 82 (o 4 4 wed 3uh
fereed )

(A) qE-ufEm FifEr (B) IW-r0T ISR
(C) Sfeurgd =ifEr (D) -3 FHER
(E) orgafd o

AT H TSI STIET Yl TR0 (T S TH T) 3T qcdl Ll
S

(A) Tegafe (B) 3 T HAT
(C) e waft (D) FHfereafa
(E) Fgafaug

TSR | “Forary] Iitadd Ud Fee fawm & (¢ < @)
TeRIg” ST TATYAT fohar fordmT & aea <1 82

(A) TS IATASH foamT

(B) TSHEIT TS JuvT =07 i

(C) = fowm

(D) TSI 3T sl (70

(E) rgafd 9

Fill in the blank with the most appropriate article:
He earns seventy thousand rupees year.

(A) a (B) the

(C) an (D) Not applicable
(E) i o

Fill in the blank with the most appropriate option:

Do you have food left?

(A) afew (B) any
©) a (D) little
(E) ¥gafasg

Match List-I with List-I1:
List-I (Sentences) List-II (Preposition)
a. Prem was sentenced I. over

death by the
Judge.
For lack
money, he could not
continue his education.

II. on

c.  The cat jumped 1. of
the fence.

The doctor decided to
operate
immediately.
Choose the correct answer from the options provided:
(A) a-1,b-1V,c-1II,d-1II

(B) a-III,b-Lc-IV,d-II

(C) a-1V,b-1,c-1IL d-1

(D) a-1V,b-1c-1,d-1I

(E) 3¥gaia g

IV. to

his arm
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Which of the following National Highways passes through
Rajasthan, as per the NHAI India Road Network State/UT-
wise details of National Highways (as on 31-12-2024)?

(A) 216A (B) 315A

(C) 702D (D) 168A

(E) Question not attempted

The Cable Stayed Bridge across the Chambal River on Kota
bypass is a part of which of the following National
Corridors? (Choose the most appropriate option from below)
(A) East-West Corridor  (B) North-South Corridor
(C) South- East Corridor (D) East-North Corridor

(E) Question not attempted

The National Disaster Management Authority (NDMA) in
India is headed by the:

(A) President

(C) Prime Minister

(E) Question not attempted

(B) Union Home Minister
(D) Cabinet Secretary

Under which department was the “Climate Change and
Clean Development Mechanism (CDM) Cell” established
in Rajasthan?

(A) State Planning Department

(B) Rajasthan State Pollution Control Board

(C) Forest Department

(D) Rajasthan Renewable Energy Corporation

(E) Question not attempted

Fill in the blank with the most appropriate article:

_ year E'E

(B) the
(D) Not applicable

He earns seventy thousand rupees
(A) a

(C) an

(E) Question not attempted

Fill in the blank with the most appropriate option:

Do you have food left?
(A) afew (B) any
(C) a (D) little

(E) Question not attempted

Match List-I with List-I1:

List-I (Sentences) List-IT (Preposition)

a.  Prem was sentenced L.
death by the

Judge.

For lack

money, he could not

over

II. on

continue his education.

c.  The cat jumped [I. of
the fence.
The doctor decided to

operate

IV. to
his arm
immediately.

Choose the correct answer from the options provided:
(A) a-1,b-1V,c-1I,d-1II

(B) a-MI,b-Lc-1V,d-TI

(C) a-1V,b-1Lc-TI,d-1

(D) a-IV,b-1l,c-1,d-1I

(E) Question not attempted
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104 Choose the sentence with the most appropriate use of | 104 Choose the sentence with the most appropriate use of

punctuation.

(A) 1 think you’re, wrong Jonty.
(B) Bring me, some fruit Priya.
(C) Itis cloudy? It may rain.

(D) They will come, won’t they?
(E) orgafid 9

Choose the most appropriate option to transform the given

sentence from Hindi to English:

39 el H A1 3HU § AT qHAE |

(A) Tanya is sharper than anybody else in the class.

(B) Tanya is more punctual than others in the class.

(C) Tanya is never on time in her other class.

(D) Tanya is otherwise the most punctual girl in every
class.

(E) 3¥gafia s

Choose the most appropriate option to transform the
following sentence from English to Hindi:

She listened to my advice attentively.

(A) 3H T HeITE S YA |

(B) A1 gashar § #{ geoie Y &l off |

(C) 38 i HeTe A H Hehell f@rTs |

(D) i TeTE weshar § g TS |

(E) 3¥gaia g

What is the technical term for a document which is genuine?
(A) Domicile (?ﬂ'f\ PEIL)) (B) Evacuation (ﬁ*m"]’q)

(C) Bona-fide (IHT0TH) (D) Constitution (HfET)
(E) Agafasg

freafaRad o & TsreeT 1 -9 T ST €T o e

(B) I
(D) Terammrg

frefafad 8 @ TSTe 1 -9 & e & ot iy
| T e 82 (e § & el 39 farehed =)

(A) TIARTE (B) @

(C) HTRt (D) IHAH

(E) rgafd 9

| <l SFRTOMT (2011) % STTEN, TSTEA T 38 SHEeE
(TS 1 Tt SIEEAT o Haer 7) T fepa fermra eft? (e
H 9w 30 forshed )
(A) 25%

(C) 38%

(E) 3¥gaia s
ST Yeg § SHI9-8T I B2

(A) e (B) ferm
(€) =m (D) S
(E) ¥gafasg
frefafaa 8 @ st 1 aaiarh T8 -
(A) =g B) g
(C) @ (D) =qaT
(E) a9

(B) 40%
(D) 42%

ACIE [+]

punctuation.

(A) Ithink you’re, wrong Jonty.

(B) Bring me, some fruit Priya.

(C) Itis cloudy? It may rain.

(D) They will come, won’t they?

' bk

(E) Question not attempted

Choose the most appropriate option to transform the given

sentence from Hindi to English:

59 el H a1 3HU § AT qHAE |

(A) Tanya is sharper than anybody else in the class.

(B) Tanya is more punctual than others in the class.

(C) Tanya is never on time in her other class.

(D) Tanya is otherwise the most punctual girl in every
class.

(E) Question not attempted

Choose the most appropriate option to transform the
following sentence from English to Hindi:

She listened to my advice attentively.

(A) 389 T UATE SAHYES YT

(B) a1 Wdehdl & H{ GeTE G Tl o |

(C) 39 it e G & Tt fd |

(D) 0 TeTe wehar & g T |

(E) Question not attempted

‘What is the technical term for a document which is genuine?
(A) Domicile (HFHHTH) (B) Evacuation (ﬁFm'TH)
(C) Bona-fide (EITCITﬁW) (D) Constitution (ﬁﬁ‘aﬂ)

(E) Question not attempted

Which of the following places of Rajasthan is nearest to the
International Border?

(A) Phalodi

(C) Tanot

(E) Question not attempted

(B) Pokhran
(D) Kishangarh

Which of the following regions of Rajasthan does not share
its boundary with Haryana? (Choose the most appropriate
option from below)

(A) Hanumangarh

(C) Sikar

(E) Question not attempted

(B) Dausa
(D) Alwar

What was the approximate percentage of urban population
of Rajasthan (with respect to the total population of the
state), as per the Census of India (2011)? (Choose the most
appropriate option from below)

(A) 25% (B) 40%

(C) 38% (D) 42%

(E) Question not attempted

SEIET 368 H HH-81 T T2

(A) gelm (B) e

(C) o (D) S

(E) Question not attempted

Freaferfiaa § 9 <stf@ w1 waia= T8 -

(A) =g B) T

(C) T (D) =

(E) Question not attempted
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113 ‘99T’ Teg o1 fai I 372 BIMTI-

(A) 9= (B) &=®
(C) Treaeg (D) @M
(E) 3¥gaiasg

114 ST 9Igd SaT & areRreT o for 3fer wree & -
(A) =& (B) I
©) FH (D) &=
(E) Agafayg

115 =fIRad # € 31 3163 o1 = HifSw:
(A) TR (B) UIER
(C) =fifes (D) TEIHE E-E
(E) Sigia 94

116 TreAfcTiaa TRl # 9 Y3 a1 1 == HIeg;:
(A) TR A & AT R
(B) H F T F@TE
(C) 3TTU=HT YagI|
(D) €l TS I A9 Al AT
(E) gafd g

117 YT A 973 9T &N A1 fohel shied © Haiferd 22

(A) dfery saeret (B) W VdehTed
(C) HATH VT (D) of Tl
(E) rgafd 9

118 THT 379 ATS 3 R 319 T WIAT gAT o7 Fra fean 21 A1
FTT Tk STd §U THTT ! 07 fora 7@ ot forer St (Shm0) o
FH=id g

(A) 3Tl 9 (B) it
(C) ITERH I (D) ST 9
(E) 3Fgafa 9

119 WTq 9L 3 feeedt & frer favmm 1 15 fo veet weh ot 9
9| fSTEreRT 3T 9TH 9 819 W32 Reminder 9STT ‘Reminder’-
31eg % foru 3fra fe=dt wree 2

(A) SRRt (B) IITEHNH
(C©) I (D) HHTAT ST,
(E) a9

120 Fill in the blank in the following sentence with the most
appropriate tense form:
The radio since 10 p.m. yesterday. The

neighbours were getting disturbed because of it.

(A) would play

(C) plays

(E) orgafd g

(B) had been playing
(D) have had played

ACIE [+]

113 “9&aTa’ 768 T faeliy 768 BhT-
(A) Vg (B) @=®
(C) freaa (D) HmE

(E) Question not attempted

114 i1 95d a1 & TR o o 3ferd wrea 2 -
(A) g (B) ¥
(C) Fad (D) &=
(E) Question not attempted

115 Fr=fafiad § 9 318 3 &1 =1 Fifvw:
(A) i (B) dTiEri=
(C) =itk (D) WEIHE

(E) Question not attempted

116 Fr=fafad ari & @ 3 a1 i =3 Fifw:
(A) TTHT T =T H & G 2
(B) HM I 1] X T
(C) TR Y|
(D) I<t TS F FTIH AIe 7YY

(E) Question not attempted

117 I3 TS YeT 21T\ TR Foh it & Taiferd 82
(A) Hfere et (B) HTHI= dehleT
(C) ATH SaHIA (D) 9of kTl
(E) Question not attempted

118 THIT T 37O HTE 3 ST 379 T @A g7 7 farsfan faam 21 e
HTHT Yohe FAd §T THRT 61 O foral 98 9 fodt St ()
FT=Id B2
(A) II=ETE 9
(C) STTEATH T
(E) Question not attempted

(B) 9fw=
(D) =T 9

119 9T §iahR A feweft & frer favmr =0t 15 a7 veet & o= A=
ofT| fSTehT ST ITH 7 €9 92 3784 Reminder 97Tl ‘Reminder’-
(A) ST
(C) U
(E) Question not attempted

(B) TEHTH
(D) T AT

120 Fill in the blank in the following sentence with the most
appropriate tense form:

Theradio since 10 p.m. yesterday. The neighbours

were getting disturbed because of it. E-l.'t
(B) had been playing

(D) have had played

(A) would play

(C) plays
(E) Question not attempted
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SPACE FOR ROUGH WORK /T% % & foTT T
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S o W a1 Wit - et i i T i, wdter wwifh o wler et sie @ qe wierrell 3Tt b i AT gidat ders i dr,
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QT qeih ST < qiterell =t E | overell fedier st <t 7o gy o SR |
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